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OET-012 : MATERIAL COSTING AND CUTTING 

Time : 2 hours 	 Maximum Marks : 100 

Note : All questions are compulsory. 

1. Fill in the blanks : 	 10x1.10 

(i) The sum of the length of the outer periphery 
of a plain figure is known as 	 

(ii) Area of a rectangle is the product of 
and 	 

(iii) Space left between two pattern pieces when 
interlocked together is known as 	 
waste. 

(iv) When thousands of yarns are interlaced 
together at right angles to each other, it is 
known as 	 fabric. 

(v) The 2nd quality skin texture is often found in 
the 	 area of the skin. 
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(vi) The area of all upper component that goes 
under the shoe is 	 margin. 

(vii) The patterns are placed along the line of 
	 on a skin while cutting. 

(viii) There is no grain visible in a 	  
leather. 

(ix) Amount of leather required for a cutter with 
a view to cutting a design is mentioned in 
the 	 

(x) Arranging leathers in order to obtain best 
utilization is known as 

2. 	Match the following : 2x5=10 

(i) PU coated fabric (1) Costing 

(ii) 1000 gm (2) Part of Vamp 

(iii) 	RSM (3) Synthetic 

(iv) Underlay (4) 1 kg 

(v) Toe Cap (5) Allowance 

3. Write short notes on the following : 	5x5=25 

(a) Area of a rectangle and a circle 

(b) Nesting of components 

(c) Scientific Leather Measurement (SLM) 

(d) Knitted Fabric 

(e) Leather Allowances 
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4. Describe in detail about the process of defining 

consumption of leather. 	 10 

5. What are the documents required for production 

control in cutting department ? Write the 

importance of each document. 	 10 

6. Draw a placement diagram of patterns on a 
sheep skin. What basic derby may be considered 
for cutting ? 
	

10 

7. Solve the following problems : 	 10x2=20 

(a) In 60-litre mixture of milk and water, there 
is 70% of milk. How much water must be 

added so that in the final mixture there is 
50% milk ? 

(b) Two components are 25% and 20% 
respectively of a third component. What 
percentage is the first component of the 
second component ? 

8. What are the advantages of hand cutting over 
machine cutting ? 	 5 
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(vii) 	TPTAT 5-4   *=t 
Itgi Tur 	t 

(viii) 	(1q chli   ' I 

(ix) rs,A1*-1 .-T-e-4 	che.k f 	HNI pct 
41 aTrawrw-d-r*41t 31,411 *if 	 
14)ii .ttot t 

(x) rr-4rzErzi-17 of 
ra-Pra- 

2. 	tgi *FR *FAR : 	 2x5=10 

(i) PU 	tb-W 	(1) oliict-fm 

(ii) 1000 -gm 	 (2) 	1-4 	RFT 

(iii) RSM 	 (3) #19-We 

(iv) ai- t-a 	 (4) 1 f4 	 

(v) (5) 3TFT3-4r 

3. r 	kirrlrtgd TFT Tifki-Fr du4 	wit fArR : 

(al) aTrzrff 

Wzirr 

(TT) #rfa--  (1q Trrq (SLM) 

() P?.s tr-o-T 

(zt) (Iqk  3T-Tr T3FT 

5x5=25 

4. 	 0q) 37*IT 	ahta 	srrwzrr 
ratdlt~dm au 	-I Q-r-A-R I 	 10 
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5. -Qrf 143171 14 .3r4ig-1 14r*  R.11 .11-1-A qk-c-ndil 
(documents) IaTrd74-*-M -0 t ? -51--  
.-r -4T-- 	fati7 1 
	

10 

6. 34-g Oil) t.  tglo (-47) trr 4-64 •f t.) t*AZ 
ir4i *-4f-.R I -1-1-1 * c 	 rchi alTi1R10 sell' 
urR 4 kul if .1011c11 t ? 

	
10 

7. 1i-irCiRgd Tra-r1 	(.1tf--47 : 	 10x2=20 

(al) TT A 4141 --r 60 'dt-d7 -RENT t, -Null 70% 
-V t I *(-14 1*--d-Ri trr4t fq-a-rzu AR fwzr4 .ft 
airdA #13TuT A TT 50% t AR; ? 

N) t chi-4142t'll 	-e * .-1:171: 25% 3 20% 
t I 72M -g*-4-Z WA 7r-dvra-
t ? 

8. HiLi .WQr1 41 grmi A gs -Q3-r * err -am t ? 	5 
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